
ohiosteel.com/parts-store       OHIO STEEL INDUSTRIES 1-800-652-2321

1

2

13

9 11

10 25 26 27

18

2121

6

21
20

30

31

16
15 14

17

2324
22

19
21

7

8

20 20

20

29 28

213
4

5

12

ITEM PART NO DESCRIPTION QTY
1 6005855-G2 PLATE, TOP (GRAY) 1
2

KIT  
6005860-B2

DRAWBAR, WELDED, 42CP 1
3 PIN, PLUNGER 2
4 SPRING, PLUNGER 2
5 KNOB, PLUNGER 2
6 6005829-B2 PLATE, CENTER (BLACK) 1
7 6005839-B2 WELDMENT, AXLE, 42CP (BLACK) 1
8 506081-B2 SPOOL, CORE PLUG (BLACK) 4
9 6000632-G2 PLATE, SIDE (GRAY) 2
10 6005849-B2 WELDMENT, BRACKET, WHEEL (BLACK) 2
11 6002416 WHEEL, 4.00-6 X 1/2" (SILVER) 2
12 KIT  

6005861-G2
HANDLE, BOLT ON (GRAY) 1

13 GRIP, ROUND, 7/8" X 3-3/4" 1
14

KIT   
6004181

SPRING, TINE 32
15 TINE, PLUGGER (BLACK) 32
16 PIN, CLEVIS, 1/4" X 1-1/2" (ZINC) 32

ITEM PART NO DESCRIPTION QTY
17 KIT 6004181 COTTER HAIRPIN, 5/64" X 1-3/16 32
18

KIT   
6005815

HEX BOLT, 5/16-18 X 2-1/4" (ZINC) 4
19 HEX BOLT, 5/16-18 X 3/4" (ZINC) 6
20 HEX NUT, 5/16-18 NYLOC (ZINC) 10
21 WASHER, 5/16" USS (ZINC) 20
22

KIT   
6005816

BUSHING, SPOOL 8
23 SPACER, 3/4" X 4.25" 2
24 WASHER, 3/4" SAE (ZINC) 1
25 HEX NUT, 1/2"-20 NYLOCK (ZINC) 2
26 WASHER, 1/2" SAE (ZINC) 2
27 COTTER PIN, 1/8" X 1-1/2" 2
28 HEX BOLT, 1/4-20 X 1-1/2" (ZINC) 2
29 HEX NUT, 1/4-20 NYLOC (ZINC) 2
30 KIT   

6000770
PIN, HITCH, 1/2" X 3" (ZINC) 1

31 COTTER HAIRPIN, 3/32" X 2-5/16" (ZINC) 1

10

Exploded View


	Safety
	Warr
	Contents
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View26
	Drawing View27
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View75
	Drawing View76

	Assy 1
	Drawing View3
	Drawing View66
	Drawing View67
	Drawing View77
	Detail View G (1 : 3)
	Drawing View113

	Assy 2
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View79

	Assy 3
	Drawing View56
	Detail View C (1 : 2)
	Drawing View58
	Detail View D (1 : 2)
	Drawing View60
	Drawing View71
	Drawing View72
	Drawing View80

	Assy 4
	Drawing View62
	Detail View E (1 : 2)
	Drawing View64
	Detail View F (1 : 6)
	Drawing View73
	Drawing View74
	Detail View I (1 : 3.5)

	Assy 5
	Drawing View88
	Detail View J (1 : 3)
	Drawing View91
	Drawing View93
	Drawing View94

	Ops
	Repair
	Drawing View95




